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Hi, there. So, in continuation of the discussion that we are having in terms of the Valuation of

Equity, so, this session will focus on the Equity Valuation Model. Particularly, we are going

to talk about a discounted cash flow approach or DCF approach of valuing the equity asset or

equity share.

(Refer Slide Time: 00:52)

So, we have already discussed about the valuation of stock through dividend discount model.

We have seen that dividend discount model can be applied to find the present value of all the



future dividends where the company keeps on paying dividend at a constant rate for in future.

And if it is a multiple period scenario, then the present value can be calculated using dividend

discount model where we have the present value or P naught is equal to dividend divided by

cost of equity or discounting rate.

And, if it is growing at a certain growth rate then we can also use a Gordon’s growth model or

the method through which we can implement the growth in dividend where dividend keeps on

growing at a constant rate and find the present value in terms in terms of P naught. We will

also touch upon the discounted cash flow approach or DCF approach of valuation model.

(Refer Slide Time: 01:54)

Essentially, we will see first how growth can be measured particularly when it comes to

finding the present value of dividends that keeps on growing at a constant growth rate and

then we will use these concepts in discounted cash flow approach.



(Refer Slide Time: 02:13)

So, to approach or to the valuation principles or to explain the valuation principle we know

that the value of a share of a company can be derived by applying the basic present value

concept where we assume that a company will keep on paying dividends year after year to the

shareholders. And for shareholder the present value or the intrinsic value of such a financial

application or financial asset should be the present value of all future dividends that the

investor is expecting.

Now, in real world hardly any company keeps on paying constant dividend. So, we believe

that company might pay varying dividend and to simplify the matter, the payment of dividend

will have a growth rate G which implies that the dividend will keep on growing at a constant

growth rate G.



So, to highlight these this issue let us first start with understanding the dividends and growth

in earnings. So, as we know from our understanding of accounting concepts, a dividend

payout is calculated as the earnings per share also known as EPS into dividend payout rate.

Which means if a company pays 50 percent of it is earning as dividends then dividend payout

rate will be 50 percent and whatever earnings per share is available for shareholders can be

multiplied with dividend payout rate to find the dividend.

So, if a company has 10 rupees earnings per share and it has 50 percent of dividend payout

rate, then 10 rupees multiplied with 50 percent will be dividend. It is very intuitive. It says

that for every share I have certain earnings and I decide to as a company I decide to pay only

half of the earnings per share as dividend to the shareholder and remaining is left in the

business as retained earnings.

So, the idea here is if company has EPS of let us say 10 rupees, the board decides that 50

percent will be given as a dividend payout or payout percentage and remaining 50 percent

will be retained. So, we can also call it in a common parlance plowback which means 50

percent of the earnings per share is given back to the shareholders and remaining 50 percent is

plowed back in the business for further growth, further investment and so on.

So, when we have to find dividend all we have to do is EPS multiplied with 50 percent of

dividend payout. So, the dividend will be 5 rupees and remaining part of the profit will go

back to the business as retained earnings for further investment that is plowback. Now, in a

similar fashion we can do the back calculation for EPS. So, for calculating EPS we know that

it is the total earnings for the year available for shareholders divided by number of shares

outstanding and that is how we calculate earnings per share.

Now, when it comes to paying dividend companies can increase the dividends in three ways.

There are multiple ways to increase dividends. It can increase its earning which means the

company can focus more on generating higher revenue and or reducing all cost, so that the net

income or earnings can be increased. Once the earnings increase then earnings for the year



available for shareholders will increase assuming that the number of shares outstanding will

remain constant earnings per share will increase.

(Refer Slide Time: 06:52)

Second approach is the company can increase the dividend payout rate which means if the

company has EPS of 10 rupees, earlier if the company was paying 50 percent as payout now,

it can pay 75 percent as the payout and 25 percent alone as plowback. In this way the

available amount for dividend is increased and now, the company can pay 7 rupee 50 paisa as

dividend. So, earlier it was paying 5 rupees, now it can pay 7 rupee 50 paisa.

The drawback of this approach is two fold – one is the company will have less amount of

money as retained earnings compared to previous scenario where it had 5 rupees of earnings

per share as plowback. Now, it will have only 2 rupee 50 paisa of earnings per share as

plowback.



So, company might require a larger amount of fund in future and it might not have sufficient

earning retained earnings coming through plowback and it may have to find external sources

of funds for investing in newer branches, newer businesses, newer products and so on. So,

this will have some repercussions in terms of financial cost or obligations for future.

And, second is if the company keeps on paying higher dividend or if it increases the payout

then it might give a signal in the market that the company might not have sufficient attractive

projects for future and that is why a major chunk of earnings per share is given back to the

shareholders.

Imagine if I have very exciting projects in future which I can take up and develop new

products maybe I can acquire higher market share, I can attract more consumers, but instead

of doing all these I will give earnings per share more to my shareholders and retain lesser

amount with the business itself. Which means, I do not see any profitable any interesting

projects for the business in future and that is why I am parting away with the funds that I

might have.

So, this is the second approach of increasing dividend and third approach is of course, if we

can reduce the number of shares out outstanding, then we can have higher dividends available

for shareholders. So, but this approach again is tricky because to reduce the number of shares

outstanding a company has to buy back its own share and maybe investors might not be

willing to sell back to the company.

So, company has to buy back at a premium price which means the company has to pay higher

price to every share holder who is selling the shares back to the company in order to reduce

the number of shares outstanding which will eventually benefit the remaining shareholders

who still hold the share after the number of shares is reduced.

So, the company can take up any of the three approaches depending on the scenario,

depending on the industry trends, depending on the financial condition of the company,



depending on the future prospects of the company, the firm or the company can adopt one or

the other approach for increasing the dividends for the shareholders.

In a related note, earnings growth can be determined by using the following approach where

we have retention rate which is nothing, but the plowback rate. And if you have plowback

rate you can multiply plowback rate or retention rate with return on new investment and that

will tell you the growth rate.

(Refer Slide Time: 11:00)

So, assume that in just, this previous example, we have this EPS to be 10 rupees and out of

which let us say 40 percent is paid as dividend which means dividend will be 4 rupees. So far

so good, but remaining 60 percent is plowback which means this is the retention rate,

company wishes to retain larger part of earnings for future investment.



Now, here company has to highlight or company has to project that it is retaining larger part

of earnings with itself so that it can invest in new ventures, new projects, new products,

maybe new plant, bring new machinery. And, once those new things are taken up, new

projects, new product development or R and D or machinery are taken up then return on new

investment will be something, right.

So, assume that return on new investment if the if the company wishes to invest more money

in new project and that project has return on new investment at the rate of let us say 10

percent, then growth rate in this case will be retention rate multiplied with return on new

investment and that will be the new growth rate for the business.

Here basically what we intend to showcase is retention rate is the fraction of current earnings

that the firm retain within the business as I was talking about in terms of plowback. And this

is done in order to invest, save more money or in order to keep more money with the business

for future investment uses, so that dependence on external funds can be reduced.

As we understand the firm can have multiple sources of funds for operating or for running the

business. Typically a firm can start with looking into its own retained earnings if the firm has

been doing business for quite some time or alternatively the firm can have short term loan as

one of the sources of funds. If that is not sufficient then firm can go for long term loan.

And, subsequently a firm requires larger amount of money then firm can go for equity

through IPO or FPO or any other mode through which the firm can raise equity. So, equity as

a source of fund and that is how typically businesses raise funds. So, first and cheapest and

least risky source of fund is the retained earnings which company has been retaining basically

the part of profit as plowback or retention rate indicates.

The company has been keeping part of its current earning for future uses and that is what the

company might use to indicate expected growth rate in earnings.



(Refer Slide Time: 14:38)

Now, here let us take a look at the example which will incorporate all these formula or all

these approaches together. Let us take a look at this example here which says that a company

decides to reduce it is dividend payout rate to 75 percent. So, the payout rate the company is

trying to implement is 75 percent and this is done in order to retain some part of money which

is 25 percent.

So, plowback rate is plowback rate is 25 percent which means for every 100 rupees 25 rupees

is retained in the business for new investment or expansion plan and this new investment will

generate a rate of return of 8 percent. So, return on new investment will be 8 percent and

retention rate is 25 percent. The EPS for the year is given to be rupees 6, this is the EPS that

the company is having currently and the cost of equity capital is 10 percent. So, r E or the

discounting rate is 10 percent.



If these are the information given, then what should be the current price of the share for this

particular case? So, if we try to start with calculating this dividend first, so, dividend for this

company will be EPS multiplied with payout rate. So, dividend will be calculated to be

dividend is 6 rupees and payout rate is 75 percent. So, basically 4 rupees 50 paisa is the

dividend. This is the dividend that company is intending to pay.

Then we have earnings growth rate as plowback rate or retention rate multiplied with return

on new investment. So, basically, we have 25 percent into 8 percent and here we can calculate

this as 2 percent. So, we can find the value of g as 2 percent and finally, we can calculate the

value of P 0 as dividend divided by r E minus g. So, dividend is rupees 4.5 divided by r E is

10 percent and g is 2 percent. So, 4.5 divided by 8 percent. This will give us approximately 56

rupees 25 paisa.

So, this is the intrinsic value of the share or it should be the current price. Again, decision

criteria is if current market price is greater than 56.25 then do not buy and if current market

price is less than 56.25, then you can buy this share. So, this is how we calculate the current

value or present price of a stock given the dividend and growth in earnings. Using this these

examples we can find the value of any stock if we have the information about their dividend

payout ratio earnings per share.

There if earnings per share is not available then we can go to the earnings available for

shareholders and divide it by the number of shares outstanding for the year and calculate the

earnings per share. That is how we get EPS. If we know the dividend payout rate as a policy

of the company, then we can use earnings per share multiplied with the dividend payout ratio

to find the value of dividend to be paid.

Then we have earnings growth rate to be calculated as retention rate. So, retention rate is

nothing, but 1 minus dividend payout rate. So, it is 1 minus dividend payout rate. So, we can

find the retention rate. Return on new investment has to be found again with respect to the

investment the kind of investment that the company intends to make in future.



And based on the those investment the company expect to earn certain return on new

investments. And, that is how we can implement this formula of P 0 is equal to dividend

divided by cost of equity or discounting rate minus growth rate to find the current mark to

find the value or intrinsic value and based on that we can make a decision.

(Refer Slide Time: 20:28)

Now, an alternative approach where we do not depend largely on dividends because

dividends is basically an accounting phenomena where we know that the company might pay

dividend some year company might not pay dividend as well. So, in the situation where

company might not pay dividend, how do we find the value of such a company’s share?

So, to address this this sort of issues we implement dividend instead of dividend discount

model we approach discounting discounted cash flow model. As the name suggests we



generalize the dividend discount model to formulate discounted cash flow model for multiple

period. Instead of dividends, here we have cash flows.

So, for every year we have some cash flow that is coming in for the shareholders, for the

company, for the firm, for the equity holders and based on those cash flows we can find the

value by discounting those cash flows with the discounting rate and find the present value.

So, when we have to find the present value, we can just find the cash flow brought back to

present time and then we calculate the present value of the entire business, entire firm or if we

are able to find the present value cash flow to the equity holders. Then we can find the total

value of equity and thereby we can calculate the present value of every unit of equity shares.

(Refer Slide Time: 22:21)



So, to highlight this example of discounted cash flow, we can simply take a look at this where

discounted cash flow model is based on the concept that the value of a share of a stock or a

share of a company is equal to the fundamental argument present value of the cash flow that

the stock holder expects to receive from the company, right.

In case of dividend discount model, we know that dividend is something that is coming as

cash flow to the investor in case of finding the value of the share of or a company we know

that company is expecting to receive some cash flow in the form of net profit or net cash flow

coming to the business.

And, if we look at the literature, we know that there have been debates, there have been

discussions in the academic literature about what should be discounted. We have already seen

that we can discount dividends; some people argue that we should discount earnings; some

people argue that we should discount earnings plus other cash non-cash expenses such as

depreciation.

And, if we boil down all these arguments to the root we know that these approaches are

similar and it has been highlighted in several finance and economics literature. So, to start

with we have already seen that present value of all future dividend is the current value of that

share which we have discussed in dividend discount model for one period for multiple period

with growth.

When it comes to free cash flow discounting which is basically a form of discounted cash

flow models, here we can consider cash flow to the firm for discounting in order to find the

value of the firm. Which means, here firm expects certain cash flows from the operations

from the business and those cash flows can be discounted to the present time and then we can

find the value of the firm.

And, if we are able to find the value of the firm then we can simply do the rest of the

calculation; which means if we are able to find the value of the firm in entirety then we can



divide the total value of the firm with number of shareholders number of shares and we can

find the value of each share.

So, the key here is free cash flow. What is free cash flow? So, when it comes to free cash

flow then it is basically the cash flow that a company generates after considering all cash

outflows that support its operations and maintain its capital assets.

(Refer Slide Time: 25:16)

Let us take a look here. Suppose a company is having a source of revenue. So, let us say it has

revenue and then it has costs all costs then we it will have earnings before interest tax,

depreciation and amortization. Then it will have to adjust depreciation and amortization, then

it will have earnings before interest and tax, then it will pay all interest on loans, then it will

have earnings before tax. Then it will pay taxes, then it will have earnings after tax that is

what we believe as earnings available for shareholders before appropriations.



Now, if we assume that this this is non-cash expenses this is non-cash item which means the

company is not losing cash on this particular item, then we have to bring it back and we just

add depreciation amortization to find the cash flow. And, in some cases there will be some

sort of working capital that can be considered to find the free cash flow and once we are able

to find the free cash flow for let us say year 1 then for year 2 let us say historically, we have

data for year 3, year 4, year 5.

Let us say these are the historical value which means we have data from financial statements

from previous years we can extrapolate these numbers for upcoming years let us say year 6,

year 7, year 8, year 9, year 10 and these are projected or estimated value.

(Refer Slide Time: 27:44)

So, we can calculate the FCF for all these future years and then discount it, bring it back.

Once we are able to find the projected cash flows; so, let us say cash flow FCF for year 1 or



rather year 6 FCF for year 7, FCF for year 8, FCF for year 9 and FCF for year 10. We can

bring those free cash flow to the present time which is year 5. Let us assume that the present

time is year 5, here we are trying to do the calculation.

So, all we have to do is we have to just bring all these future cash flows to a present time.

Once we know the value of all these future cash flows, we have to just do certain adjustments

and we should be able to know the present value of the firm because firm we are trying to

find the value of present value of all the future cash flow that firm is expecting.

And, once we are able to find the present value of a firm, we can simply deduce it to the share

level and find the present value of the stock by using discounted cash flow method. So, I will

just quickly show an example through an Excel through which we will be able to explain this

approach a little better.

(Refer Slide Time: 29:07)



So, if we just quickly go to this Excel Sheet here if we take a look, here we know that as

explained earlier let us say this is the; this is the financial statement for a particular company.

Let us assume that this is a hypothetical company of ABC Limited and we have the financial

statement number for.

So, here I have one example in the spread sheet where I have some hypothetical company let

us call it ABC Limited and to start with we always have financial statements from previous

periods where we have a profit and loss statement and we have balance sheet.

(Refer Slide Time: 30:05)

So, here we can see that the we have the financial statement of the company for year 18, 19,

2020, 2021 and 2022.



(Refer Slide Time: 30:30)

So, all these years ending March 31st we have the numbers related to their of sales, operating

income, expenditure, even we have in case of balance sheet we have these numbers for their

assets and liabilities as well as shareholders fund. The same March ending 31st March for

year 2018, 2019, 20, 21 and 22.

So, with these historical information and certain assumptions about the growth rate and the

riskiness of the project to be used for calculation of return on new investment we have this

free cash flow estimation where we have the value for previous year from March 18 to March

2022. So, these are the actual data which is coming from the financial statement of these 5

years and based on the growth rate we extrapolated these numbers for next 5 years.

So, these are the projected data for March 2023, March 2024, March 2025, March 2026 and

March 2027. And, if you look at this calculation these calculations are simple because here



we have assumed that the value of let us say net sales for March 2023 is a function of the

sales of March 2022 and certain growth rate. And, this is used for next extrapolation for

March 2024, similarly for March 2025 and so on.

So, in this way we can extrapolate the numbers for all these items in the financial statements

first for profit and loss account, and then subsequently for balance sheet.

(Refer Slide Time: 32:25)

So, here we extrapolate for profit and loss account where we have extrapolated the or

estimated the value of net profit or loss for the period starting first we have the actual or

historical data, and then we have the estimated data. And, remember we are standing here in

2020. So, all we have to do is we have to find the value of the company based on the

projected cash flow in the year 2022.



Let us consider it is December 2022 and we are trying to find the value of the company in

December 2022 based on the expected value of financial statements or items in financial

statements including profit and loss account as well as the balance sheet. So, these are the

projection for income statement and similarly, these are the projection for balance sheet.

(Refer Slide Time: 33:24)



(Refer Slide Time: 33:31)

Now, we do not need all the items the value for all the items in the balance sheet for

projection rather we just calculated the value for non current liabilities for next five years.



(Refer Slide Time: 33:42)
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We also calculated the total value of fixed asset for next five years and similarly, we

calculated the working capital requirement.



(Refer Slide Time: 33:52)

So, as we understand working capital requirement is basically the difference between asset

current assets and current liability. So, we estimated the working capital requirement which

gives us the change in working capital and then we also calculated the Capex which is

basically change in fixed asset plus depreciation the capital expenditure component and this

way we calculate the free cash flow.

So, as I was discussing earlier free cash flow is net income plus depreciation and amortization

and then a tax shield which is nothing, but calculated using interest into 1 minus tax rate. So,

tax shield in accounting is basically the advantage coming to the company because of lower

tax payment and then we have the CAPEX and change in net working capital.



With all these numbers we are able to find the free cash flow to the firm FCFF that is for next

five years from 2023 March till 2027 March. And, with these numbers we use the discount

factor and we find the present value of all these free cash flow to the firm for next five years.

(Refer Slide Time: 35:28)

So, the next task is to calculate the present value. So, all we have to do is we have to use this

present value of future cash flow to the firm and we have to also find the present value of

terminal value. So, terminal value is basically at the end of five year that is ending 31st March

2027 we will have some terminal value.

And we will have the firm value in terms of the sum of present value of free cash flow to the

firm and present value of terminal value as the firm value. And, once we have the firm value,

we adjust this firm value for long term debt which means the company will have might have



some debt in the year and that debt has to be adjusted. So, after the debt is paid, it is assumed

that after the debt is paid the remaining value is for the equity holders, right.

So, because typically when we look at the balance sheet, we know that it is liability and

assets, where liability might have loans and other liabilities and equity shareholders. So, if we

have the value of the firm derived and we pay all the liabilities, then the remaining value is

left over for the value for shareholders. So, the actual value of the firm is this much in rupees

crore and then we divide it by the number of shareholders to find the present value of each

share.

(Refer Slide Time: 37:17)

Now, how do we know whether these this number of present value of the cash free cash flow

or as we have discussed about discounted cash flow method. So, where we have discounted



the cash free cash flow to the firm and arrive at a per share value. So, per share value on this

date is calculated to be rupees 2,313.

Now, this should be the as I share this should be the price of the share for this particular

company and we can validate it or we can compare it with the price current price of the

company in the market.

(Refer Slide Time: 37:56)

Let us assume that this is the current price of the company in the market and, we can then

compare whether it is higher or lower than the value that we have calculated.
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And, if it is if the current price of the share as I say if the current market price of the share is

greater than rupees 2,313, then do not buy and if current market price is lesser than the value

that we have arrived by calculating this value then buy. Well, here we can assume that if you

are holding the share already, you should sell or if you are a smart investor and you have the

scale to short sell the short selling strategy can be implemented as well.

And that is how we use the discounted cash flow approach or DCF approach to find the value

of the shares using projected income statement and balance sheet. With this example, I must

highlight that this example is based on certain assumptions, particularly with respect to the

calculation of growth rate and cost of capital.
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These assumptions are to be first calculated in terms of the growth rate and the proportion of

debt to equity ratio. These are certain technical requirement that are to be calculated first

before we go to calculate this free cash flow to the firm and subsequently the actual value of

the firm using this discounting discounted cash flow approach.

So, with this example, I think we have understood the approach of discounted cash flow

method DCF method for understanding the value of a firm.
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And, with this I would like to sum up here and as we have seen earlier that in order to value

equity share we need to determine either the present value of all the future dividends that the

company or the investor is, company is intending to pay to the investor and investor is

expecting to receive.

Or we can also find the expected cash flows to the firm or to the equity holders in order to

arrive at the present value of all those future cash flows by applying the discounted cash flow

approach, which is one of the most commonly used approaches for calculating the price of a

share or the value of a firm given its financial statement and other information.



As I already pointed out, other information might be required and that will help an investor to

make a decision whether the value is higher or lower than the current market price. That is all.

Thank you very much.


